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Answer any five questions
All questlons carry equal marks _
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1.a) Explam the graphxcal procedure for solving hnear programmmg problem of two
decision variables. :
b). Mrm_rg,rrze 2=2y+3y, subJect to the_gonstramts
oy +y, =5
Y +2y, 26 _
auy 20, 220w s
Using big-M method. ' _ o . [7+8]

~ 2.a), Explain the mathematlcal formulatron of the transportation problem,
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b)' Determine an’ initial basi
problem using North—We

le, where O; and D represent it origin and j® ]

o,

3..a) Explain the o 'jé;of Assignment problem
. by Acaghirec

- l'qulII'GS a car
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How should the cars be assrgned to customers so as to minimize the dlstance

mEaws

travelled? e o [7+8]s

4, There are 4 jobs each of which has to go through the machines My, My, M3, My, Ms

xxxxxxx

'ble solution for the followmg transportauolﬁ—

[7+8]

and M6 in the order M,, Mz, M3, My, Ms and M6 Processmg times are as glven below:

- ER © Machings (i) #2
Mr M-: M Ms Mg
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Determine a sequence ofithese four ;jobs whigh minimize the total:collapsed:time T.: '

Also find T. _ [15]




.....

5a. A truck can carry a totaI of 10 tons of product These types of product are avallable for%

1
2

-3
o|w|> kg

b)  Minimize z=3x +4
Subject to x <3,

i Weight(tons) | == @ | mE

- 78]

Explain maxi-min and mini-max principle used in game theory w1th examples :
Solve the game us1ng dommanee E [8+7]
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2100 | 25606: | 2900 {3400 | 4000
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A stockist has to supr

s

‘transportatmn from the mahufacturer isRs.75 per order. The cost of carrylng mventory

is 7.5% per year of the cost of the product.

Find. ,

a) Thé-economic¢lot size. £ OB
b) The total optimal cost (mcludmg the cap1ta1 cost)

Hafn Ny

c} The total weekly profit if the item is sold for Rs.55 per unit. [5+5+5) -
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